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1 The equation shows the reaction between magnesium and sulfuric acid. [A.: H, 1; O, 16;
Mg, 24; S, 32]

Mg + H;SOs - MgS0O, + H,

In this reaction, which mass of magnesium sulfate is formed when 6 g of magnesium
react with excess sulfuric acid?

A 8 B 24 Cc 30 D 60

2 The diagram shows an electrical cable.

plastic coating

metal core

Which statement about the substances used is correct? o

The coating is plastic because it conducts electricity well.

B The core is copper because it conducts electricity well.
C The core is copper because it is cheap and strong.
D The coreis iron because it is cheap and strong.

3  When substance X is electrolysed, the amount of gases P and Q formed is shown.

What is substance X?

concentrated aqueous sodium chloride

B concentrated hydrochloric acid
C dilute sulfuric acid
D molten lead(") bromide
Ahe Cily Sehood| Unified Mid-Year Examinations, December 2018 / Chemistry / Paper 1/ Class 10 Page 2 of 16

Scanned by CamScanner



4 The energy level diagram for the reaction between sodium hydrogen carbonate and
dilute hydrochloric acid is shown.

sodium chloride + water +
carbon dioxide

energy

sodium hydrogen carbonate +
dilute hydrochloric acid

P

Which row correctly describes the type of reaction and the energy of the reactants and
products?

type of reaction energy of the reactants and products
A endothermic the products have more energy
than the reactants
B endothermic the reactants have more energy than
the products
C exothermic the products have more energy than
the reactants
D exothermic the reactants have more energy than
the products

5 Aliquid X reacts with solid Y to form a gas.

Which two diagrams show suitable methods for investigating the rate (speed) of the

reaction?
1 2
@ cotton wool g cotton wool
A X ‘ X
srse—Y 75— Y
g T
3 4
stopper (//4__—stopper
—= X ﬁ X
————— Y v Y
A land3 B land4 C 2and3 D 2and4
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6 The results of two tests on solid X are shown.

test | observation

aqueous sodium hydroxide added green precipitate formed

acidified silver nitrate added yellow precipitate formed

|
|
|

What is X?

A copper(ll) chloride
B copper(ll) iodide
C iron(ll) chloride

D iron(ll) iodide

7 Students, X, Y and Z, were told that solid P reacts with dilute acids and also conducts

electricity.
X Y Z
copper iron graphite

The table shows the students’ suggestions about the identity of P.
Which of the students are correct?
A X, YandZ B Xonly C Yonly D Zonly

8 Tin is a metal that is less reactive than iron and is extracted from its ore cassiterite,

SnO;. '

Which statements about tin are correct?

1 Tin can be extracted from cassiterite using carbon.
2 Tin does not conduct electricity.

3 Tinis hard and shiny.

A 1,2and3 B 1and2only C 1land3only D 2and3only
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9 Which statement about the uses of metals is correct?

A

Aluminium is used in the manufacture of aircraft because of its strength and high

density.

Copper is used in electrical wiring because of its strength and high density.

Mild steel is used in the manufacture of car bodies because of its strength and
resistance to corrosion.

Stainless steel is used in the construction of chemical plant because of its strength
and resistance to corrosion.

10 The diagram shows an experiment to investigate how paint affects the rusting of iron.

P Q

iron\q q/ painted iron

What happens to the water level in tubes P and Q?

tube P tube Q
A falls rises
B no change rises
(o rises falls
D rises no change

11 Water was added to separate samples of anhydrous cobalt(") chloride and anhydrous
copper(ll) sulfate.

Which row describes the colour changes that take place in these reactions?

cobalt(ll) chloride copper(ll) sulfate
A blue to pink blue to white
B blue to pink white to blue
pink to blue blue to white
D pink to blue white to blue
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12 The diagram shows the separation of petroleum into fractions.

e o ]

I

Petroleum —>__ — 7

What could X, Y and Z represent?

X Y VA 0
A diesel oil lubricating fraction paraffin
B lubricating fraction diesel oil paraffin
Cc paraffin lubricating fraction diesel oil
D paraffin diesel oil lubricating fraction

13 What is the relative formula mass of ammonium nitrate, NHsNO3?

A 80 B 108 C 122 D 150

14 Concentrated aqueous sodium chloride is electrolysed.

e main product formed at the positive electrode (anode)?

What is th

A chlorine 0
B hydrogen

C oxygen

D sodium
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15 Some properties of four fuels are shown in the table.

Which fuel is a gas at room temperature and makes two products when it burns in a

plentiful supply of air?

fuel formula melting point / °C boiling point / °C
A hydrogen H, -259 -253
B methane CH,4 -182 -164
C octane CgHig =57 126
D wax Ci1Hes 60 400

16 A student was investigating the reaction between marble chips and dilute hydrochloric

acid.

bun

marble
chip

L

2

25cm of dilute
hydrochloric acid

Which changes slow down the rate of reaction?

gas syringe

temperature of concentration of surface area

acid acid of marble chips
A decrease decrease decrease
B decrease decrease increase
C increase decrease decrease
D increase increase increase
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17 Which statement about the extraction of iron in a blast furnace is not correct?

A Calcium oxide reacts with acidic impurities.

C Molteniron is formed at the base of the blast furnace.

D The raw materials are hematite, limestone and coke.

Iron(ll1) oxide is reduced to iron by carbon dioxide.

18 Stainless steel is an alloy of iron and other metals. It is strong and does not rust but it
costs much more than normal steel.

What is not made from stainless steel?

A cutlery

pipes in a chemical factory

B
C railway lines
D

saucepans

19 Which fraction of petroleum is not matched to its correct use?

fraction

use
A bitumen making roads
B gasoline fuel for cars
C kerosene fuel for ships
D naphtha chemical industry

20 The equation shows the thermal decomposition of magnesium carbonate (M, = 84).

MgCO; > MgO + CO,

Which mass of magnesium oxide is formed when 21.0 g of magnesium carbonate are
completely decomposed?

A 19g
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21 Elecincity is passed through concentrated aqueous sodium chloride. Inert electrodes
are used.

Concentrated
_I—| aqueous sodium

What is formed at the negative electrode?

A chlorine
B hydrogen
C oxygen

D sodium

22 Two chemical processes are described.

During the combustion of gasoline, energy is ...... 1. .
During the electrolysis of sulfuric acid, energy is .....2...... ;

Which words complete gaps 1 and 2?

1 2
A given out given out
B given out taken in
C taken in given out
D taken in taken in
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23 When dilute sulfuric acid reacts with aqueous sodium hydroxide, the temperature of
the solution increases. Which words describe this reaction?
A endothermic and neutralisation
B endothermic and redox
C exothermic and neutralisation

D exothermic and redox
24 The mass of a beaker and its contents is plotted against time.

Which graph represents what happens when sodium carbonate reacts with an excess of
dilute hydrochloric acid in an open beaker?

A B c D
A
(1] — 0 0 0 >
0 time 0 time 0 time 0 time

25 When blue copper(ll) sulfate is heated, a white solid and water are formed. The white
solid turns blue and gives out heat when water is added to it. Which terms describe the
blue copper(ll) sulfate and the reactions?

the blue .
copper(ll) sulfate is reactions
A a mixture can be reversed
B a mixture cannot be reversed
o hydrated can be reversed O
D hydrated cannot be reversed

26 Which changes increase the rate of reaction between calcium carbonate and dilute
hydrochloric acid?

1 increasing the concentration of the acid

2 increasing the temperature
3 increasing the size of the pieces of calcium carbonate

A 1,2and3 B 1and2only C 1land3only D 2and3only
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27 What is used to test for chlorine?

A aglowing splint
B damp litmus paper

C limewater

D potassium manganate(VIl) solution

28 What is a property of all metals?

A  conduct electricity
B hard

C low melting points
D

react with water

29 Which material is not involved in the large-scale extraction of iron from iron ore?

A Dbauxite

calcium carbonate (limestone)

B
C carbon (coke)
D

hematite

30 Which uses of the metals shown are both correct?

aluminium stainless steel
A aircraft bodies cutlery
B car bodies aircraft bodies
C chemical plant food containers
D food containers car bodies
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31 Iron is a metal that rusts in the presence of oxygen and water.

Mild steel is used for ......1...... and is prevented from rusting by ......2........

Stainless steel does not rust. It is produced by ...... 3...... iron with another metal.

Which words complete gaps 1, 2 and 3?

1 2 3
A | car bodies greasing covering
B car bodies painting mixing
(o cutlery greasing covering
D cutlery painting mixing
32 Some marble chips (calcium carbonate) are heated strongly and substances X and Y are
formed. Q

Substance X is a white solid that reacts with water, giving out heat. Substance Y is a

colourless gas.
What are substances X and Y?

X Y
A calcium chloride oxygen
B calcium hydroxide carbon dioxide
C calcium oxide carbon dioxide
D calcium sulfate oxygen
33 Some of the fractions obtained from the fractional distillation of petroleum are used as Q

fuels for vehicles.

Which two fractions are used as fuels for vehicles?
A bitumen fraction and gasoline fraction
B bitumen fraction and naphtha fraction
C gasoline fraction and kerosene fraction
D

kerosene fraction and lubricating fraction
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34 Burning fossil fuels releases heat energy.

Which substance is not a fossil fuel?
A coal

B hydrogen

C natural gas

D petroleum

35 The results of two tests on solution X are shown.

. . : in
reagent added observation on adding | observation on adding
a few drops of reagent an excess of reagent
aqueous sodium hydroxide white precipitate precipitate dissolves
aqueous ammonia white precipitate precipitate remains

Which ion is present in solution X?

A A B Ca* c cu®

36 The relative atomic mass of chlorine is 35.5.

What is the mass of 2 moles of chlorine gas?
A 17.75g B 355¢g C 71g

37 The empirical formula of a liquid compound is C;H40.

To find the empirical formula, it is necessary to know

A the density of the compound.

D zn*

D 142¢g

the percentage composition by mass of the compound.

B
C the relative molecular mass of the compound.
D

the volume occupied by 1 mole of the compound.

38 Aluminium is produced by the electrolysis of molten aluminium oxide.

What is the correct equation for the reaction at the positive electrode?

A Al > AP+ 3e
B A/* +3e > A
C 0, +4e - 20¥
D 20" > 0, + de”
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39 When aqueous copper(ll) sulfate is electrolysed using copper electrodes, which

observations are correct?

intensity of bluﬁ
positive electrode negative electrode colour of electrolyte
A electrode becomes smaller | electrode becomes bigger constant
g | electrode becomes smaller gas given off fades
(o gas given off electrode becomes bigger fades
D gas given off gas given off constant

40 Which metal is attached to underground pipes made of iron, to provide sacrificial
protection from corrosion? Q

A Ag B Cu C Mg D Pb
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